R4
¢

X=X ‘\C:]:"j_
'(7\[: Lmiﬂ')

H=2 de3
Tj: SIS

L7
%9 j7: AREY;

x> 2L 7’1:{ VX -4
){:—L \‘J:% :I

L = ¥
5 F0 L g

2~ Y| Ve 6
fip= A4 T
"iL' o Wy

_Liye prinaman, wlke's 13
i '{x-f’nﬁ ‘ﬁr 7/3

Vﬁmm Wo.

o0 P 0]

jz ("{’K}' 4\];7

ot |

LW(F“Y = ( (,c(“&1 I(P]'W

e Ld Yl ey

=2 Lyt ):1[471

1y

7’-(:: LY %)

({x:?k ‘]'\]t(‘XJ.
V]: LK m‘lv
vy
Yor = LOTXRY D

j; I % mL‘j ,
vL& wy

ki

=T i
:w?%)( +=(?"%j
- Y < T']'

,p)(""?‘\--c?e“%}ﬁ
wi2 ko £3
v X v, 3
Cakd %M(ﬂ’?’):i}t
/Zﬁ%—- -1 7«4{-??}3-;

,MY?MH‘*-(‘Q L MI.AI'M'HM s —3

L =g

L

i
'L‘-CPU‘
AT\

LA &

=8 00000 OO




| Y- ’(x: Y fe1 {%:gﬂ

}"‘ec C 3(), 09
jF: AN zl‘J; @J Jzt |2%

‘j: m,ﬂ ) (V)
’Of’: L Vj
(3.11¢) >LLW""'],!V‘U
12 Lk w:(ébj 4=l
704%]"6{@76{
Lo P v
) (S

- |

SESTA -l
(0712 G4 61
L- 7,

2

_3, —l__;;.

. 7ty ¥ Um
%tﬁ:]’ 2 ]

L R R e

o ﬁ) *1-(‘%)-?‘4&?5)2-?7

pairman 3.7 P 1)

(3. ‘F)(:_j —(7:7< f:t:')..

17'(:=L':I‘no, "7
e 70 =l
v = Ve 18 )

vf:’ LVj
(_j 1y =l awy
falx A2l 2=220
)84]‘{1’:;6
+:LL;”'(,)C
NR)
= ‘?(}Y\

o, bt

122343 2y 22
R
(P2
w2 Hp ST
A= 248
2T 1er® )

72 = *
T 8

223
‘e(ﬂ"ﬂﬁ 2) =70
»f(;tfﬁrfﬁﬂ -2)= 2o

MACUun S To mimun T3—Dg

e ——|

&=l 00000 00




'EL f, Ay = AR &Ry

. :Lgl
., (X7 L], 18 - A
T, pe e Tl eF e
ptpeeey jj; A
f_:l%_ V%'}LT MO aMum 8 VR
Y panmesi {4 — TR
J_l/”\—lf-—')‘ﬁt
el
&=L
=B

—8E8

=8 00000 OO




